
 

Running Board Instructions 
 

3020 
(2010 – C) Ford Transit Connect Van 

( Drilling Required ) 

  

Installation Kit Parts 

Running Board      2 
Bracket s Front     2 
Bracket s Middle    2 
Brackets Rear      4 
Bolt Plate 3.5” (Use On Middle & Front Brackets) 4 
Bolt Plate 2” (Use On Rear Brackets)  4 
Twist Straps     8 
Bolt Packs For Boards & Brackets  2 

Necessary Tools 

Combination ratchet wrench set with ½” deep well socket  
Variable speed drill w/ 3/8” hex head drive  
Safety glasses 
 
 
 
 
 
 
 
 
 
 
 
 
STEP ONE :   Determine proper bracket placement 
 
1. Locate support rails on the underside of the van were the 

brackets need to be placed.  Starting at the back near the leaf 
spring perch will be the first hole.  Moving towards the front use 
the following. Driver side use holes #1, #2, #4 and #5.  
Passenger side use holes #1, #4, #5 and #6.  
 

2. Place 2” bolt plates in rear smaller holes (2) each side - Fig A & 
B.  Place 3.5” bolt plates in front large oval holes (2) each side – 
Fig C & D.   Acquire brackets front, middle and rear use Fig G to 
help determine correct bracket.  Mount each bracket as shown 
Fig G using installed bolt plate with 5/16” flange nuts hand tight, 
be sure to install top of bracket in second hole from tip as shown 
Fig E & F.  Brackets in Fig F should be centered in oval hole.  
Attach a strap to each bracket using 5/16 bolt & nut Fig H & I. 

 
3. Slide 5/16” * ¾” bolts down outer channels on underside of 

boards, so (2) bolts are located at each bracket location.  Place 
boards on brackets with bolts dropping through slots in brackets 
and secure with 5/16” flange nut to board hand tight.   

 
4. Fully tighten top of brackets to support rails on vehicle.  Board at 

this point should be close to its final installed location.  Center 
board on vehicle to your preference.     
 

5. Now apply slight pressure up or down to make board level at 
each bracket location and use (2) self taping tek screws to attach 
straps to inside rocker panel Fig H.  Only (1) self tapping screw 
required for mounting rear strap to vehicle channel Fig I. 

  
STEP TWO : Board Installation Check.   
 
1) IMPORTANT: Check all bolts to verify completed mounting and 

tightness.  Installation is complete 
 

   
 

     
 

    
 

 
 

   

Bolt Pack Brackets 

14 * ¾” Self Tapping Screws        16 

5/16” x ¾” Hex Bolt                      8 

5/16” Serrated Flange Nut           16 

Fig A 

Fig D Fig C 

 Fig B 

Bolt Pack Running Boards 

5/16” x ¾” Hex Bolt                      16 

5/16” Serrated Flange Nut           16 

Fig H 

Fig G 

Fig F Fig E 

Fig I 

Rear (2) 

Middle 

Front 

Front & Middle Rear (2) 


